O IVIB AR DdMIrocs-suPERFOCS

A KOHLER. CEWgive: LDW 502 Citycar P/F Drawing: M

STARTING
POS. |CODE DESCRIPTION Qty

5a «————- » see Pos. S 17 0

6 £2100.109 preheating glow plug 12 V 2
7 2185.548 glow plug wire 1
10 «————- » see Pos. S 30 0
12 5840.209 starting motor 12 V 1,1 KW M3 1
13 9730.045 screw M 10 X 30 2
14 6745.050 oil switch 0,3 bar (M 12) 1
15 4670.060 copper gasket diam.12 1
19 9180.172 faston female 1,5 3
20 B240.004 nut M 5 2
21 7626.066 washer 2
22 B240.186 nut M 8 1
23 7565.007 washer diam. 8 1
24 2186.139 starting motor wire 1
25 2145.014 regulator cap 1
26 J362.228 voltage regulator. 12V 14/26A-6 contacts for alternator 3 wires 1
26 7362.298 voltage regul.l12 V maX 30 A - 5 contacts for alt.2 wires 1
26a 7362.320 voltage regul.12 V 40 A - 6 contacts for alt.3 wires 1
28 5830.171 connection boX 1
29 2185.867 glow plug wire 1
30 2193.204 contr boX 12V (Chatenet) 1
31 8565.083 stator for alternator 2 wires 12V 30A (for ceramic rotor) 1
31 8565.107 stator for alternator 2 wires 12V 20A (for ceramic rotor) 1
31la 8565.094 stator for alternator 3 wires 12V 20A (for ceramic rotor) 1
32 1557.103 wire connection 1
33 6491.013 pipe elbow 1
34 5830.161 connection boX 1
35 B3800.031 flange 1
36 6357.084 starting motor plate 1
36 6357.104 starting motor plate (special LIGIER) 1
36a 6357.103 starting motor plate (Grecav) 1
37 5168.078 sensor plate Ligier version 1
37 5168.079 sensor plate 1
52 6275.154 plate 1
59b 2185.999 wire for dashboard on engine with warning light/sensor for elec 1
68 2185.979 wire from temp.sensor to preheating control boX 1
78 3240.033 nut M 10 2

printed by LOMBARDINI: 29/03/2018 -

1




Engine: LDW 502 Citycar P/F Drawing: M

) /fz =
N\
%»%g ’“

40
91

3
J
)2
/

-

45
5

e?é ’:\/: ’
Q77 g@«“‘{ﬂﬁ@

894910 11 34 \2

A
=

printed by LOMBARDINI: 29/03/2018



